
Conversion Graphs L2 Mark Scheme  

1(a) 8 km [1]

1(b) 15 miles [1]

1(c) 48 km [1]

1(d) 20 miles [1]

1(e) 40 km [1]

2(a) 11 lb [1]

2(b) 10 kg [1]

2(c) 33 lb [1]

2(d) 30 kg [1]

2(e) 55 lb [1]

3(a) €6 [1]

3(b) £10 [1]

3(c) €30 [1]

3(d) £15 [1]

3(e) €24 [1]

4(a) 4 L [1]

4(b) 42 pt [1]

4(c) 16 L [1]

4(d) 56 pt [1]

4(e) 28 L [1]

5(a) 3 m [1] Accept answers in range 2.9 – 3.1 m

5(b) No [1]

6 m [1] Accept answers in range 5.8 – 6.2 m

5(c) Yes
[1] Accept no since graph doesn’t pass 

through 15 exactly



6(a) 118 ml [1] Accept answers in range 115 − 120 ml

6(b) 0.8 fl. oz [1] Accept answers in range 0.7 − 0.9 fl. Oz

6(c) 6.7 fl. oz [1] Accept answers in range 6.6 − 6.8 fl. Oz

6(d) 10.1 fl. oz [1] Accept answers in range 10 − 10.2 fl. Oz

7(a) $7 [1]

7(b) £10 [1]

7(c) $35 [1]

7(d) 35 × 10 (= 350) [1]

$350 [1]

7(e) 10 × 10 (= 100) [1]

£100 [1]

8(a) 155 st [1] Accept answers in range 140 − 160 st

1.28 ton [1] Accept answers in range 1.2 − 1.3 ton

465 st [1] Accept answers in range 460 − 480 st

310 st [1] Accept answers in range 300 − 320 st

2.56 ton [1] Accept answers in range 2.5 − 2.6 ton

8(b) Tayata Mover

1 ton, 155 st
[1] Accept answers in range 0.9 − 1.1 ton

Accept answers in range 140 − 160 st

9(a) 60 min [1]

Yes [1]

9(b) 3 hr [1]

9(c) No [1]

5 hr [1]


